
Printed in USA
©2005

Page 1

E-2ECGC-PLA-1205

100 Thomas Johnson Drive, Frederick, MD 21702-4600 USA
Phone (301) 663-1600 • 1-800-638-3326

Fax (301) 663-1607 • 1-800-447-3326
Website: www.edcoinc.com • Email: sales@edcoinc.com

1314

1112

11
1213

8

4

18

18

16

17

15

6 6
5

5

10

9

7

4

4

3

2

1

19

SKIRT KIT W/ RUBBER SEALS
AND REMOTE VACUUM PORT FOR

DUAL DISC GRINDERS*
PART# 77140

REVISED STARTING
SERIAL # 051210058

ITEM# PART# DESCRIPTION QTY.
1 77001 SKIRT GUARD 1
2 77141 RUBBER SEAL 2-1/2 x 56 1
3 77143 RETAINING STRIP, RUBBER SEAL 1
4 11676 BOLT, CARRIAGE 13

1/4-20 X 5/8 GRADE 2
5 10602 WASHER, FLAT 1/4 SAE 13
6 10861 NUT, KEPS 1/4-20 13
7 77339 RETAINING BRKT., SKIRT CORNER 2
8 77112 PANEL, VACUUM PORT 2" 1
9 77142 RUBBER SEAL, REAR 2-1/2 x 16 1
10 77144 RETAINING STRIP, REAR SEAL 2
11 10806 SCREW, CAP 5/16-18 X 1 5
12 10801 WASHER, LOCK 5/16 5
13 10213 WASHER, FLAT 5/16 SAE 5
14 10113 SPACER, STL. 9/16ODx3/8IDx7/32 2
15 64030 PLUG, CAP 3" TUBE 1
16 86347 BRACKET, MULTI-VAC PORT 1
17 10846 SCREW, CAP STSHW 1/4-20 X 1/2 2
18 10766 CLAMP, HOSE, SAE #28, 2

ADJ. TO 2-1/4
19 77113 HOSE, FLEX 2"ID X 32"L 1

*NOTE:
THIS KIT CAN BE USED TO UPGRADE
 ALL MODEL 2-EC OR 2-GC GRINDERS
MANUFACTURED BETWEEN
DEC. 1991 AND FEB. 2005. SINCE
FEB. 2005 ALL PARTS ARE STANDARD
ON THE GRINDERS. DEC. 2005
ITEM #16 WAS CHANGED FROM A
2” VAC PORT TO A 2”/3” MULTI-VAC PORT.


